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{Xdg - 02

VrZ A§H$s g§»¶m§Mo dmMZ d boIZ

g‘OyZ KoD$¶m 

A.H«$. JR²>R>m                               gwQ²>Q>o boIZ dmMZ

1)  

Zì¶mÊUd

2)

9 XeH$ + 10 EH$H$
  = e§^a

nwT>o 10 EH$H$m§Mm EH$ JR²>R>m V¶ma H$ê$ Vmo 1 XeH$ hmoB©b.

3)
9 XeH$ + 1 XeH$

= 10 XeH$ 

e§^a = 100

4)                             

                            10 XeH$ = 1 eVH$
EH$eo = e§^a

        = 100

5)

20 XeH$ = 2 eVH$

XmoZeo = XmoZeo

        = 200
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gmoS>dyZ nmhÿ¶m 

A. 
H«$.

{MÌ eVH$ XeH$ EH$H$ g§»¶m g§»¶oMo dmMZ H$ê$Z 
Ajar boIZ H$a

1)

3 4 6 346 VrZeo eohoMmirg

2)
............................

............................

3)

5 1 8 518
............................

............................

4)

............................

............................

  Imbrb V³Vm nyU© H$a.

A. H«$. g§»¶m A§H$m§V boIZ Ajar boIZ

1) 3 eVH$ + 4 XeH$ + 9 EH$H$ .................................

2) 6 eVH$ + 2 XeH$ + 3 EH$H$ .................................

3)  eVH$ +  XeH$ +  EH$H$ 581 .................................

4) 1 eVH$ + 5 XeH$ + 9 EH$H$ .................................

5)  eVH$ +  XeH$ +  EH$H$ AmR>eo Mm¡è¶mÊUd

6)  eVH$ +  XeH$ +  EH$H$ 907 .................................
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